180n - 360

180-z

180-b

180-c
80-e-C

yrnbl 38e34bl - 1440
yrnbl BH 5-yr - 540=5"180-360=900-360

180-a+180-b+180-c+180-d+180-e=540
atb+c+d+e=540+5*180

5180 - (a+b+c+d+e)=540
(a+b+c+d+e)=360

a+b+Q=180
b+c+W=180
e+c+E=180
e+z+R=180

a+z+1=180
2(a+b+c+d+e)+7=5"180

?=5"180-2"360=180

a) HanaunTte cymmy yrmos
NPOMU3BOJIbLHOIO TPeyrosbHUKa

6) Hanantne cymmy yrnos
NPOU3BOJIbLHOIO N-YroJibHUKA

B) CaMonepeceKkaLwmnncs
naTnyronbHMK ABCDE nmeet opmy
NATUKO-HEYHOW 3Be34bl. Hanaurte
CYMMY YIrf10B Npu "ny4yax 3Be3/4bl.



